MATIS00-05/08 OIS TEST3 Takshome  Print Name (Last, First)

see inbtruckions at end.

Do) Obtain the complete Taylor serves for lnx  centered ot x=1 directly from the Taglor

_ . Senes formula,
b) Wnie out the firsk S nonzerv tems.

&) -Use yeur result do evaluate Inll to 4-decimol place accu ;- based on the allemabing -
seﬁe;)esﬁma\e-ﬁrfheemr, P ragy , based on the allemahing
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@ a) YEVQ\M{-Q’ S———-——):‘W ax ano\’ g_l_——xﬂnx)" dx whe«fe’ P>,i )mq;:hg vgf(ab\g subshhhon
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b)  For what valyes of pz4 does 1“'\es<‘:r-lesw % n@nn)P _C,‘"‘,Y?"geg?ﬁ Explain,

-72x2 w ~2X2
~(3) Evaludte: a) S: xe Xax  and So X€ o ax, Use careful himit notation.

b) g: Xxe ay and g:’xe‘z"o\x.

[—-X. )
z

| @a) Given () = —_ evaluate ard s;wi\pli@ 79(X)= Xfl(X).

@ Stewart 81.35. A hawk flying at ISm/s at an altitude of (30 m accidentally drops prey.

= onhl ks the ground, uwhere Y is fs heght above the ground “and X is the h:ﬁzoh‘ru\'
. dishance fraveledbythe prey from the fime it is dvopped until the time 't hits the ground, Find

b) Obtain the power series ‘Ear £(x) from the power seres _lj:x = gox” , \Wxl<A,

What is the intenal of tonvergence for the new series ¢ Justify your answer  Does A belong

o 'fc)\_‘('_ﬁ;'f’f\lsv'ln'\emal ? | S
Now dofain the power senes for g6<) by term by Teom mutbiphedron differentidhon andthen

,mu\HPhcahon by X.  What i ts infenal of convergence 7

d) Now evaluate q(1) from your formula of part a) and  evduate .“",,e, power series

for g(X) ot x=1 whose sum is Just g(V), leadwng to an explied value ﬁ,f the
reubing infinite series,  Stutethe nfinie Series and its sum. I

e foun doing Calclab Fnuem 2.77.9, which inspired me o understund why v

The pam\ao\tc 'l'njedonj of the ﬁ\hdg prey is desctnbed by the equation y= (90— )S_é ,

actual dishince fraveted by the prey duangthis fall.

© Stewdt @R.8, |t [o]2|4|c|8l0]12 \*“‘ '8 7-0122
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“a) Gwe the exact integval formula, R S
_B) Use Smpsen's nle with h=4 1o approximate i, showng carefully all of your steps,

als
o

~ Ywoseond intenals are gwen hdihls fable, uce Stempson's mxe—mwnxmmwsz“ )y dt.

\ 3
[cheqhb this proceduge fwo more fimes leads 1o the exack value = on =Z€?..‘} B

 Aftera G-mg injechion of dye into the heart , fhe readings of dgeconcen'\‘mhona\— S

@ Find the average value of the function ()= %24 1rx? on the intenval lo2]. (es0)

D) Stwart 5R.5B. A parficle moves dlong a line with velocty finchon (k) = 21,
Find &) the displacement and b) the distance fraveled by &g\wrhc\g dgr‘m_«j the o

 hmeinfevd  [0,57.



